Homework 8.1 Worksheet Name, K"\
(This is your quiz review as well) Date Hour.

In Exercises 1-2, identify the point estimator you would use to estimate the parameter and
calculate the value of the point estimate

1) Got shoes? How many pairs of shoes, on avfimge do female teens have? To find out, an AP®
Statistics class selected an SRS of 20 female students from their school. Then they
recorded the number of pairs of shoes that each student reported having. Here are the data
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2) Going to the prom Tonya wants to estimate the proportion of seniors in her school who

plan to attend the prom. She interviews an SRS S of 50 of the 750 seniors in her schgai
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3) Prayer in school A New York Tlmes/CBS News Poll asked a random sample of U.S. adults
the question "Do you favor an amendment to the Constitution that would permit organized

prayer in public schools‘>” Based on this poll, ThW
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b) What is the point estimate that was useg to create the interval? Whn* ts ﬂg_min \
of error? 2 fg

0L -0.034+0(4 - 06‘1 «o 3

"' | S S o SR :‘ O. OC‘ M O C - ﬂ 9

Lesso” A



Qm\o\“.’\b Jinterval for the gvem_ge travel time to work for ‘nl!' 0|

4) Prayer in school Refer to Exercise 3. Frobhen #Y 0 Z/ 0‘47 2

a) Explain what would happen to the length of the interval if the confidence level were
* increased to 99%. T 4l N
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b) How would a 95% confidence interval based on double the sample size compare to ﬂ\e

orugmal 95% interval? A ‘?5 /o con[ JM“ mkﬂul mq” L:_,

Reﬂm‘w’ : Somple 512 7 Narroger canpm) %o -

.o.E. |.L , G hen Joobl: 'l'Lc SOV"‘ m‘j”“l

c) The news article goes on to say: "The theoretical er'r'or's do not take into accoum _
additional errors resulting from the various practical difficulties in taking my Irv
public opinion.” List some of the “practical difficulties" that may cause .
not mcluded in the +]apercen‘rage point margin of error
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5) California's 'rrafflc People love living in California fag ar
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6) Bottling cola A particular type of diet cola advertises that each can contains 12 ounces
the beverage. Each hour, a supervisor selects 10 cans at random, measures their
contents, and computes a 95% confidence interval for the true mean volume. For m
particular hour, the 95% confidence interval is 11.97 ounces to 12.05 ounces. ”%‘élg

a) What is the point estimate that was used to create the interval? What is the margin
of error? i3 =
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b) Interpret 'rhe(confidence interval.
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d) Does the confidence interval provide convincing evidence thar
different than 12 ounces? Explain your answer. (n ﬂ 2
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e) Does the confidence interval pmvgi&cémé :
12 12 ounces? Explain your answer.
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8) Explaining Confidence A 95% confidence interval for the mean body mass index (BMI) of
young American women is 26.8 + 0.6. Discuss whether each of the following explanations

is correct, based on that information.
a) There is a 95% probability that the interval between 26.2 and 27.4 contains p.
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b) We are confident that 95% of all young women have BMI between 26.2 and 27.4. ’
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d) Any valué‘}\rog ‘.;_1612 to 27.4 is believable as the true mean BMI of young American women.
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e) If we take many samples, the popuicn‘ion mean BMI will be between 26.2 and 27 4 in
about 95% of those samples.
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f) The mean BMI of young American women cannot be 28" 1A
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9) Multiple Choice You have measured the systolic blood pressure of an SRS of 25 compa
employees. A 95% confidence interval for the mean systolic blood pressure for the
employees of this company is (122, 138). Which of the following statements is true?

a. 95% of the sample of employees have a systolic blood pressure between 122 and 138.

b. 95% of the population of employees have a systolic blood pressure between 122 and 138.

@If the procedure were repeated many times, 95% of the resulting confidence
intervals would contain the population mean systolic blood pressure.

d. If the procedure were repeated many times, 95% of the time the population mean
systolic blood pressure would be between 122 and 138.

e. If the procedure were repeated many times, 95% of the fime the sample mean
systolic blood pressure would be between 122 and 138.



